IR TSI 31T Bt =T A, TGS,
foram aE-01 -udien/2025
TRk 3tgan udien (PET)-2025
ST FHell (AR TE)

giter fafer : 07-09-2025 qredt ; T2

graT Yool weg 8, 3T Tifel &9 2

IEn

2. ‘Jugl gt I =fee || ug S fersiwur =1 JerETo 2 |
TUTET

3. | U™ w1 faam weg 2
freum

ifeed 3R Sfaq 1 IR T4 2 | 98 Th TG a1 g, Fefaiad amedi § § g a9 i g
fafau |
e 3R StiaA ot af-ss Jae g |

‘376 B W T RO 2, 39T Hat 31 7
A SR

e (9. 9. 6 - 10) : F=fefaa Ty +i ves @ T T % S N |

RATS Aiec o &3 H Gayed dg1i=<ieh SATeAreT H1 ook g3 MY ‘Hrea-=e’ A1 ‘ST -—3me’
% AW ¥ YR @1 @ 7| 3USsy YAt H WeiAan @A WAy g tea Ares-wme’ @ e
g & AHeUE o &9 § W-Tagra’ 1 ufaser 1 1% 7 | Aifec 1 g9 9@ WE 7 W-Taga
e 3TN WIS o 3o shl fhAT o1 TR LT g1 e shi [ -a&q 1 Ffiehol Ta
forvetoor Jeqa a1 ® | H1eT T WG dcd hl GAiS A YH b W-Tagd & =R 4 U
3fea feem & wrer-wme w1 M TGRT | WRA & Wad] SERT § § e 4 W-fagra & fafim
T WA h! foeqa e i, foniva: W-Fsafa i q9en & Tt Wg Aleaie, THh, HERI,
FINEE T, UfSaus ST SMfG 7 -3 WA Hd i UfaseT I | 3T FSeieht WIHE, IS,
TUEl AT AT 3 T o TIH T HI i ITCHT o I H RN hi JTIsaT i | STABR o T&-d
H IFeh! GO wgd A o,
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9 39 Tied’ & TATHETE o €9 H U8 Rd o | Wad 1 H 9 o g1 Afd-wweE’ Hi, Fak &
N Tehifad TEICE’ H qUT A< 61 gRI ‘@ aueE’ 61 yfasel g8, e e ),
Tehifad TE AT 1 h1ed h1 T o &9 H SRR A1 | &5 4 37 7eft & 3faa S 1 wgeaqot
A §U ‘ST geer’ 1 ST 6 | Aee, fovey, qfeaus Sy e Smenarst 4 aHs
% I HI SN T 30 HA-IAT T § W, IR, O, @, awifw anfe aft =
ICECERCDI

Ity Tl H YTy A1 WagH gr aa Trea-wme’ g fSrem wifecy & Arere % ®9 ° forweh!
gfersst 1 g 7 ?

W-Tagm

7. | YRA & Fadi e 3 fowa: I TEET I AR g lecte, peh, VSR, T T,
GfEaUrsl ST 3Tfe 3 399379 Tas Ad <h! Tfasar <t |
w-Fwafa

g, 39, GUel 3ATfE ST 4 T8 o TIM W H1ed 6l AT & &9 4 fergehl ufsar i 72
HARR

ot I & 9 gry Afd-gueE’ 1, s & gRI Tehifed GueR Sl a1 e derE gRy fha
HyeE i wfoset g8 7
&t

10.

forea siifacy guer < wmuat 6 7
greig

e (3. 9. 11 - 15) : Fr=fafaa T = Jet @ T Y % W AN |

9Tl T 1936 H YHINE Hifesh UeTiies 3u=Imd 2 | $UHH HENN a9 % THT H 7 |
HTAHEITR FIAG ! [ATHA GG oh TTHAN! THTE! 1 RIPR BWeAd §Y ARG % o ¢ |
I B3 | QI | ST OFTE 309 81 T | TS SIS o WTHeh HeveR 148 i 1 3 | §9
gell 8 | 98 It 8 T 3meh fUan suest foamg s & 01 =8d @ | foheg T IR TR 1 g
92 T & TIHAR | Trud fodtg it @ | TRt ST 1 W9 T W@ g¢ 98 FHAT o E1Y S-S
A 8 3R FHAR ¢ o I JTaERyl s H T BT g | STATHHR 4 39 daen fata o
2 | I %l TFe o IO W G TRl ot @ | e g e ey bl U B § |

A 3UITE H AR UTH g § AUk ged 3R gigHe 7 | ywmEdt 9, {6y 3t S gew-umsi
&1 U TRl 1 T gedr Ud dRaT | Il @ | WY @ F TR gaAw o dsol, IgRaT, <
anfe @ fafed & | wwrert <l TReRT B W ot 3T gorT § IHAT 1 A SAfeh gWEeTett B | I
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1 HAfodca avft & fofu srgeheiia 8 | amafa difeg & 3ae 39 o fohg 3t faamg 7 &1 = |
i Ut # fey oft 1o v ey T wEdt B | 30 g9TEdt 3R AT % A 3R TErfd B 1 3T
T A | FE50T 1 G ST 8 | 36 Toeiver] § Feifud foan T g |

11.

‘gurerdl’ fermehl 91 & 7

wRver foig
12. | gaTet T IR AT Y AWE TIHIR 6 a1 forame et |
BE]
13. | Tt fohaeh ToEieR o 3TEEt T HIE TERAT &t 7 7
i
14. | 38 9= § WTat <l TR g W ot 3Hent ot o feheent afe 3t yvmasmeft ® ¢
g
15, | IGT FREE I LAt B 7
Hrefeig
16. | gfeqor ufsrn o ugelt T @wrar -t ot ?
TS G
Which was the first urban civilization in South Asia ?
Harappan Civilization
17. | e fhea Yo1 &1 TUE 8 7
1,028 9
The Rig Veda is a collection of how many hymns ?
1,028 hymns
18. | 9§ 7 §:W@ ¥ gfad W 79T UgSAT 3UCH HaT e AT ?
HRATS
Where did the Buddha deliver his first sermon on deliverance from suffering ?
Sarnath
19. | 39 o § 249 3 3ifem oo o8 AT ST @ 2
T HETER
Who is regarded as the 24" and last Tirthankara in Jainism ?
Vardhamana Mahavira
20. | A 997 T HEATISH I AT ?
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g |
Who was the founder of the Mauryan dynasty ?
Chandragupta Maurya

21.

IRd & fohd TS W SeTRIStt g hestl AT foifest Stmshmvr o1 werd afaa &k o 7
rqYy
Which State of India was annexed by Dalhousie was the most unjustified act of British

aggression ?
Avadh

22.

et qotd: Teh 3TTieh 3Tigre o wifeh
TN ITT hi TETEH 2 hi T&H

Swadeshi was essentially an economic movement because
Intended to give impetus to indigenous industries

23.

qd § fraeiftheret SIERE 1 9d7 I o1 7
eciks e

Who was the leader of the Theosophical Society in India ?
Annie Besant

24.

AR TaadT 3Teiod § fopd feg =1 “‘Toaet swiats feam” o &9 9 wm=m w7
16 3T, 1946

Which day was observed as “Direct Action Day” in the Indian Freedom Movement ?
August 16, 1946

25.

Rryen g forg o smnfsa femam mam or ¢
1945

Simla conference was convened in the year
1945

26.

ftTd TgH Wl o ToTT Sge S1eg 1 & SN St b1 WSRUT 3TR Hel0 hidl & 7
AN

<

What is the term used for underground layers of rock that store and transmit groundwater ?
Aquifer

27.

Wreq H SHeR g T EE FH w7
TR g1 3R et v ferereia e

How do animals in deserts conserve water ?
Being nocturnal and excreting concentrated urine

28.

HHTSEE 30 § hiH-91 WS 91T Sd1 @ 7
offRam
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Which mineral is found in monazite sands ?
Thorium

29.

frafafes & & #97 yrda areE # gfad s g
Suder Asht

Which of the following affects Indian monsoon ?
All of the above

30.

59 T 1 sueEn fafie § =mue STYR BT 8, 98 9ved: 2T @
I AR

A country with a wide base in its population pyramid likely has
High birth rate

31.

Ui By fifd dog & 6 wqd TS ot |
28 TS, 2000

The National Agricultural Policy was presented in the Parliament on

July 28, 2000

32.

frsft wufe s wft wmfore 3 emfefes Ut w1 SR fohe AT ?

AT 3R Tew

Who considered private property to be the cause of all social and economic evils ?
Marx and Engels

33.

I -3 FrEifeh! AR A H ST A 3 |
gRa it

Water Seed-Fertilizer technology is popularly known as
Green Revolution

34.

S 3T fEgEa™ e YA 1 TElT sfeh e TATA feharm T o 2

1770
The first bank of India called the Bank of Hindoostan was established in
1770

35.

UNCTAD o1 fa&ar st |

Expand UNCTAD.
United Nations Conference on Trade and Development

36.

G % GITE T 9T — | 2l
e 3R 36w O

Part — I of Constitution of India is
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Union and its Territory

37. | Gfaum™ & 3= 44 H el T § foF WG % QU & § TS ARl W foru qufera &
T AT HAT |
T AW wfgan
Article 44 of the Constitution states that the State shall endeavour to secure the citizen a
throughout the territory of India.
Uniform Civil Code
38. | VR TEd=dT o UvETd AHCIReh feht hrishn i yeaTd Rl
1952
After Indian independence, Community Development Programme was started in
1952
39. | Wit wfe % 3TeSE 23 3N 24 % WL § AT I H A G R
9T % Reetrw s1feremr
The citizens have been guaranteed the through Articles 23 and 24 of the
Constitution of India.
Right against Exploitation
40. | 9l Gigg™ % 3g<E 170 § el T & f6 Tsa fagm w7 stfekan e 31N
AW 60 T & Tehd # |
500
Article 170 of the Indian Constitution states that State Legislative Assembly can have
maximum members and minimum 60 members.
500
41. | U de &% qR 61 GY 2 x 102309 8 | Al 3Heh! T8 2 HieT 7 37 SHhT I H1E Hl FABA
1.7 x 105 m2®, 1 dis <hl fcRIEhal FT 7 7
1.7 x 1078 3TH—HreR
A copper wire has a resistance of 2 x 102 ohms. If its length is 2 m and its area of cross-
section is 1.7 x 10 m?, what is the resistivity of copper ?
1.7 x 108 ohm-meter
42. | 19 SR 7
15
1 @hs
1 Watt is equal to
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1 joule
1second

43.

9 WTehfereh g () T F iAo & WY Jordt 7, df 1 ITE S B 7
HIE SEHTFATEE 3R ST AT

When natural gas (methane) burns in the oxygen of air, what are the products formed ?
Carbon dioxide and water vapour

44.

S fepeft 310t 1 ST § el ST @, o SeH SUTRd grsgie fhH w9 H 31T Bl San 7
GATCHh €U 8 A SEEISH 3T (H*)

When an acid is dissolved in water, the hydrogen present in it separates out as
Positively charged hydrogen ions (H)

45.

STE YOT TIATST % TS §¢ T&T BT 8, A 3 Uk Teall hl STl BIdl & | BT AT J qvh
e T LT ] 7

e

When the foetus is growing inside the uterus it needs nutrients. Which part provides these

nutrients ?
Placenta

46.

20 fire e 92 &1 fopaT fdwa 8 7

33 1o
3

20 minutes is what percent of an hour ?

33%%

47.

4 3 1 T SIS HE S 9 W yuid: fowrsa B, 9% B
1008

The least 4 digit number which is exactly divisible by 9 is
1008

48.

Ife 3x—14=4 @ x =
6

If 3x — 14 =4 then x =
6
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49.

e i 39 1 geH W %ﬁaﬁ%aﬁ?aﬁsaﬁsﬁm%@aﬁ% | R w2 ?

5

12

A fraction becomes % when 1 is subtracted from the numerator and it becomes % when 8 is

added to its denominator. The fraction is

S
12

50.

HIAT T 3T T T IHeh! Y b 8 AT H Q A(UH & | IHeh! 37 1 & ?
9

The square of Meena’s age is 9 more than 8 times her age. What is her age ?
9

51.

forie 3 faromet st 319w T <t gt < gehaitd WTS & ¢ o &9 | uw fokan | forig 1 fammet & e
Y B 7

T T

Vinod introduces, Vishal as the son of the only brother of his father’s wife. How is Vinod

related to Vishal ?
Cousin

52.

9 9 1 UEel &7 §UER 7, A1 36 a9 31 f¢Het 1 "wtg w1 - feT o ¢
NS
First day of a leap year is Wednesday, then what day of the week was it on 315t December in

that year ?
Thursday

53.

N, M & 37k gigam 8 | M, Y a gfgam 781 2 | X, Y & 31feres gfgam g aife N S gigam
TE g | oeft o mew Al gigae wH 8 7

N

N is more intelligent than M. M is not as intelligent as Y. X is more intelligent than Y but not as

intelligent as N. Who is the most intelligent of all ?
N

54.

frfafiga & 9 gden fim 3@ ifse |
L

Find the odd one from the following.
Tasteless

55.

frfafiad e geen # w7 g (?) #1 3ugad fosheq § 9 |
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3,3,45,9,225,7

67.5

Replace the question mark (?) in the following number series with suitable option.
3,3,45,9,225,7

67.5

56.

e froe wog Saaume AT (3mEistt) gru fassfia m ek 2 fopd s st fimmsat @ 7
FRR-TUE-HAIE Ui-3eh Mgee faEa
What type of missile is the Nag Mark 2 developed by the Defence Research and Development

Organization (DRDO) ?
Fire-and-Forget Anti-Tank Guided Missile

57.

Tsee feren smifuetics AR W giw-Afafee aémfi % fog smve oit wfaefier wwia (CPTPP)
1 12 af TG HF S 7

15 feEer, 2024

When did the United Kingdom officially become the 12" member of the Comprehensive and
Progressive Agreement for Trans-Pacific Partnership (CPTPP) ?
December 15, 2024

58.

55 < fam aries 7= anffer Seeh, 2025 el AT 6 T8 off 7
FrEaH-FAed, fragses

Where was the 55" World Economic Forum Annual Meeting, 2025 held ?
Davos-Klosters, Switzerland

59.

wifed 3TR TTehd o eteh fopd U&ft 1 femat 2024 # STfUeRie: TR T S T3 TR T T
ueft enfya fepam o o 7

o8 T

Which bird, symbolizing power and strength, was officially declared as the national bird of the

United States of America in December 2024 ?
Bald Eagle

60.

el 2025 |, Uften! g WA 3R gfeaur TRET U ueret & fou Sutenst 3R HETyEYs & €9 O
forar fergerr fopam T 2

IEIRER

In January 2025, who was appointed as the Vice President and General Manager for India

and South Asia Beverages by PepsiCo ?
Nitin Bhandari
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61.

fopa T 7 31 fedeR, 2024 F1 FL oI SIS (CGWB) gRI Hehferd a1fies yorel Toreran faid
2024 TR i ?

e FeTvtierd AT

Which ministry released the Annual Groundwater Quality Report 2024, compiled by the

Central Ground Water Board (CGWB), on December 31, 2024 ?
Union Ministry of Jal Shakti

62.

sfeom o oo tiiAmgee (38A) 3 Sfafte § wH-H $Oc ghaaryde IS, S STaie-3nemid
HY SEYM § T He T TeR Tl g8 7
SlERI

Which crop did Indian Space Research Organisation (ISRO) successfully sprout in space,
marking a milestone in space-based agricultural research ?

Cowpea

63.

forfersm srerisdia siqume el feud 2 7
A

Where is the Vizhinjam International Seaport is situated ?
Kerala

64.

fore 291 3 1CC fopehe T ewe IfdRMR™ (WTC) 2025 =1 fgare shar ?
aferon st

Which country won the ICC Cricket-World Test Championship (WTC) 2025 title ?
South Africa

65.

T weeyefit wd gt framu feaa 2025 1 fovg #1187
““9fH SR YAEUTTU e | STTERI o 19 3870 |

What is the theme of World Day to Combat Desertification and Drought 2025 ?
“Restore the Land. Unlock the Opportunities.”

66.

et vela ek fpm o d f@ 2 2
AUt

Dhaulagiri mountain peak is located in which country ?
Nepal

67.

i1 f=feiliea § & fopg qo hi gg1 @ 7
i
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Krona is a currency of which of the following country ?

Sweden
68. | TTgaTeht fopd TS T Wi T B ?
TGS
Garhwali is a folk dance of which State ?
Uttarakhand
69. | frfafaa # @ fpa w~a 7 fgoeda faummss 7€ 2 7
RUSIIC
Which of the following States does not have a bicameral legislature ?
Rajasthan
70. | TSI netfueh foee s T ST 7 7
23 S[d
The International Olympic Day is observed on
June 23
71. | WRREn-yea nfies gedn (APEC) 1 §EaTeid %l 8 ?
The headquarters of the Asia-Pacific Economic Cooperation (APEC) is in
Singapore
72. | SiefaR ST hal fRud g 7
o R
Shalimar Bagh is located in
Srinagar
73. | frafafea § @ SM-W1 HeR U Uftg Agel faEer § 7
YR gt
Who among the following artist is a famous Madhubani painter ?
Bharti Dayal
74. | 3MYMH T @ HoH T8l fohd e H SR 8T Y ¢
|
The modern Olympic Games were first held in which city ?
Athens
75. | @mgn v ek Tee waEl {8 7
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AR

Saha Institute of Nuclear Physics is situated in
Kolkata

few (9. 9. 76 - 80) : Fr=AfcIRa S 1 eaTYEs T i 3R A= fow o woi < 3T |
fean e uTE =T Ot STA- 3T oIl g |te T T IUIET hi T SR @ |

Direction (Q. No. 76 — 80) : Study the following information carefully and answer the
questions given below.

The given pie chart shows the number of satellites launched by five different countries.

IumEl il el GE&AT/ Total number of
Satellites = 12000

RS

Ireland

Canada

Belgium
25%

76.

sfesam g vaifud SwwEl <t e i g vaifta Suugl o g i fehaan afaeea g ¢
83.33%

The number of satellites launched by Belgium is what percent of the number of satellites
launched by Norway ?

83.33%

77.

FHTEST G V&TIG GEY 3R o IUUET <hl T 1 U 3 : 27 | HATST g FaIfva TR 3uwral 6t
AT 1A HIVT | (hadl TSI GRI T&TUT Gy 3R §9R 39E R fa=m )
720

The ratio of the number of remote and communication satellites launched by Canada is 3 : 2.
Find the number of communication satellites launched by Canada. (Consider only remote and

communication satellites launched by Canada)
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720

78. | wid g0 &t Sumgl <l = s g yaifta Iumgl i g'a 8 20% U 2 | WRd 3R
TATHAT g0 Y& IUURT shl HEAT o 19 37aT J1d <hIfT |
1680

The number of satellites launched by India is 20% more than the number of satellites
launched by Ireland. Find the difference between the number of satellites launched by India
and Romania.

1680

79. | IS, sfewrm 3R ATd g gaifta SuuEl S sitda den [ i |
3000

Find the average number of satellites launched by Ireland, Belgium and Norway.
3000

80. | Ui+ grr Waifd Jeaeh 3R iy Taeh Suwgl it T w1 31U 7 : 8 7 | T g vaifud iy
Teefl TRl 1 T Aa HIT | (et AR g T8 Teah 3t Fy geeh swEl w foam
)

640

Ratio of the number of network and agriculture related satellites launched by Romania is
7 : 8. Find the number of agriculture related satellites launched by Romania. (Consider only
the network and agriculture related satellites launched by Romania)

640
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e (9.4. 81 - 85) : Ffeifad SR 1 amYEs 31 3R Fafra JeAi & IW < |
frafafea - frefafaa avt % daom fafi goml gro s=ht 8 vt i $a @@ & a) F 2
&1 gfaffieg a8 |

Direction (Q. No. 81 — 85) : Study the following information carefully and answer the related
questions.

Following line-graph represents the data regarding total number of shirts sold by different
shops during the following years.

4600
4200
3800
3400 -
3000
2600
2200 -
1800
1400
1000

2021 2022 2023 2024 2025

. gHHE A wFH B M C
Shop A Shop B Shop C

81. | 2024 T GHM A T o=t T3 31T I oI T 1 2022 H G C | =it T8 vl 6l Fd g 9
SHUST: ST TR 7
4:5
What is the respective ratio of total number of shirts sold from shop A in 2024 to the
total number of shirts sold from shop C in 2022 ?
4:5
82. | 2022 F @t & g ghMT & St T YT AT HeT AT HT AT FT R 7
3200
What is the average of total number of shirts sold from all given shops taken together in
2022 ?
3200
83. | 2023 M B 3R C & St T Wt il Fot T&AT 2025 | 361 M1 & =t T WET T Fot T

1 T fhaT Sfowa & 7
121%

Total number of shirts sold from shop B and C taken together in 2023 are approximately
what percent of total number of shirts sold from same shops taken together in 2025 ?
121%
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84. | 2022 3 2024 H g B & St T8 Wt hl Pol TEAT 3R I w0 Ay T gobe A T S T 3Lk
#1 HA T o= AT IR 8 7
1800
What is the difference between total number of shirts sold from shop B in 2022 and 2024
taken together and total number of shirts sold from shop A in same time period ?
1800
85. | 2021 # @fi & E gMl & 9=t E Wt A Pt @ 3R 2023 A wft < TS gohHT T St TS W
T T B AR ST 7 7
35:43
What is the respective ratio of total number of shirts sold from all given shops taken together
in 2021 to the total number of shirts sold from all given shops taken together in 2023 ?
35:43
& (. 9. 86 — 90) : arfetert 1 e w3 fi= few T yw=i & IWE |
HUA XYZ 3 T wEEmen i i | e el @ wriemen % foe asfieed @t sl w@n 3T
&Y TR Tfgen 1 uTd feam mn g |
Direction (Q. No. 86 — 90) : Study the table and answer the questions given below.
Company XYZ organised a workshop. Number of people and ratio of male and female
register for a workshop from different cities are given.
TN 3R
&/ City GSTieRtUT/Register 3UE/ Ratio
for workshop | of male and
female
aﬂFﬁ/Bangalore 1200 5:7
faeeh/ Delhi 950 11:8
1%/ Chennali 1800 3:6
/ 2500 12:13
Hyderabad
9T/ Patna 700 4:3
ARV /Nagaland 800 5:3
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86.

e 3R feoeht & For Afgen R Hit TE 3 weT1 3N AMeive ¥ $oT Toy AT I J& H
o= T FHAR R ?
200

What is the difference between the total number of female register from Bangalore and Delhi
together and the total number of male register from Patna and Nagaland together ?
200

87.

=TE, BetETe 3N feeht & wrivmen % forw dofispa wii <l sited dea w1 7
1750

What is the average number of people register for workshop from Chennai, Hyderabad and
Delhi ?
1750

88.

BeteTe # wfgen ToRet 3R we § gy e & ofT shAw: U 96 R 7
13:4

What is the respective ratio between the number of female register in Hyderabad and male
register in Patna ?
13:4

89.

e © JEY IR hl o TEAT ATV | A Higell TSTEet 1 T feheT Ufqwr & 7
166.66%

Total number of male register from Bangalore is approximately what percent of total female
register from Nagaland ?
166.66%

90.

HIITTET T Tigell Yoob 200 8 3 I oo ° 250 8, A I8 & Hut 7 forat ufsr a1ffa 6 2
* 3,90,000

For female, fees of the workshop is * 200 and for male is * 250. Then how much amount earned
by company from Chennai ?
*3,90,000
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&9 (3. 9. 91 — 95) : AIfetehT 1 e L 3 i fe MU yeai & WG |

TIfCThT 5 ITCT-3THT &l H ol WSSt hl HE&A1, HAGH 7 i el Hagrarst ol Yfawrd 3R
HagH i dTel et SAfaadl § § wfgenati =1 yfowra guidt 2 |

Direction (Q. No. 91 — 95) : Study the table and answer the questions given below.

The table shows total number of voters in 5 different towns, percentage of voters who do not
vote and percentage of female out of total persons who have voted.

et TeAgTanat | |
e A A At e TR
R/ | FoHagE/ HAgTatatt w1 rufiv/
Town Total voters W/Percentage Percentage of
of voters who do female out of
not vote total voters
voted
A 30000 15 30
B 13500 20 45
C 28000 18 40
D 16000 12 60
E 32500 6 40

91.

& A, B 3R C ¥ Fot fehcdd @FT 1 TaeH fopam 8 2
59260

What is the total number of people who have voted from town A, B and C together ?
59260

92.

& B ¥ UAgH i dTel eI 3R Ofgetati S 39| 991 8 ?
1:9

What is the ratio of male to female who have voted from town B ?
11:9

93.

Y& E 8 HAaeH i a1t Jeu! 3 I8t B ¥ HaeH iy drell Afgenaii i Gean & ot @ A g ?
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13470

What is the difference between number of male from town E who have voted and female from
town B who have voted ?

13470
94. | & A, C 3R E ¥ HagH 7 A dTel A3t shl 3N Tean 1 2 7
3830
What is the average number of voters who have not voted from town A, C and E together ?
3830
95. | afe et B @ waeH 7 S aTel gesi 3R Afgeraii %1 U 504 2, 9 I B ¥ oA To¥ A
3R Pt AfgeAT TSI T 3T T & ?
124 : 101
If the ratio of male to female who do not vote is 5 : 4 from town B, then what is the ratio of total
male voters and total female voters from town B ?
124 : 101
96. | Choose the indirect form of the given sentence.
He said, “ | shall do my best ”.
He said that he would do his best.
97. | Choose the opposite word (antonym) to the given word.
Victory
Defeat
98. | Choose the correctly spelt word.
Gracious
Direction (Q. No. 99 and 100) : Read the following passage and answer the questions given
below it.
Reading is more than just a way to pass time — it is a powerful tool that opens the door to
new worlds, ideas, and knowledge. People who read regularly often have stronger
vocabularies, better communication skills, and a deeper understanding of the world around
them.
Research has shown that reading fiction can improve empathy by allowing readers to
experience life from different perspectives. Non-fiction books, on the other hand, help
readers gain information and understand real-life issues, history, and scientific concepts.
In today’s digital age, many people spend more time on social media than reading books.
However, studies suggest that reading for even 15 to 30 minutes a day can significantly
improve concentration, reduce stress, and boost mental well-being.
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Whether it's a fantasy novel, a historical biography, or a science article, reading helps to

develop the mind and broaden one’s horizons. It is a lifelong habit that benefits people of all
ages.

99. | What is the main idea of the passage ?
Reading helps improve vocabulary and knowledge

100. | According to the passage, what is one benefit of reading fiction ?
It increases empathy
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